N

addazy

Fill in the blank:
1. Her thinking leans democracy.
Ans: towards

Fill in the blank:
2. He got too tired over work.
Ans: because of

Fill in the blank:
3.1 never seen such a picture before.
Ans: have

4. Choose the correct sentence.
Ans: Would you like a glass of water?

5. Choose the correct sentence.
Ans: The girl takes biscuits every day.

(3)

6.
Ans:

10.
Ans:

EC/LEC(FWT)/2019

Choose the correct sentence.

A vegetarian is a person who never eats
meat.

. Choose the correct sentence.
Ans:

He is younger of the two brothers.

. Choose the correct sentence.
Ans:

Sony bought two dozen apples.

. Choose the correctly spelt word.
Ans:

Consensus

Choose the correctly spelt word.
Worrisome

[Please Turn Over]
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11. Choose the correctly spelt word.
Ans: Harassment

12. Choose the correct sentence.
Ans: Jimmy and I went home.

13. Changethedirectspeechintoindirectspeech.

Pinki said to Gaurav, “Will you help me in
my work just now?”

Ans: Pinki asked Gaurav if he would help her in
her work just then.

14. Changethedirectspeechintoindirect speech.
He said to his servant, “Why are you so lazy
today?”
Ans: Heasked his servant why he was so lazy that
day.

15. Changethedirectspeechintoindirectspeech.
He said to her, “Don’t read so fast.”
Ans: He told her not to read so fast.

16. Changethedirectspeechintoindirectspeech.

I said to my brother, “Let us go to some hill
station for a change.”

Ans: Isuggested my brother that we should go to
some hill station for a change.

17. Find out whether there is any grammatical
error in the sentence below.

He is going everyday/for a morning walk/
with his friends and neighbours.

Ans: He is going everyday

18. Find out whether there is any grammatical
error in the sentence below.

My father goes/to his office/five day week.
Ans: five day week

19. Find out whether there is any grammatical
error in the sentence below.

If she will be promoted/she will get/ahigher
salary.

Ans: If she will be promoted

20. Find out whether there is any grammatical
error in the sentence below.

If I were him,/I would have taught/those
cheats a lesson.

Ans: If I were him,



21. Find out the alternative of the underlined
word from the following:

The new economic policy is likely to run
into rough weather.

Ans: encounter difficulties

22. Find out the alternative of the underlined
word from the following:

Wait here, I shall be back in a jiffv.
Ans: in a hurry

23. Find out the alternative of the underlined
word from the following:

I have come to know of your hole and
corner method of dealing with people.

Ans: secret

24. Find out the alternative of the underlined
word from the following:

The trade union’s seemingly rightful
demand is only a stalking horse to blackmail the
management.

Ans: trick

25. Find out the alternative of the underlined
word from the following:

The number of globetrotters has increased
after the Second World War.

Ans: travellers around the world

EC/LEC(FWT)/2019

26. What will be the sequence of the sentences
starting from (1) and ending as (6)?
(1) : What handicapped people
P : an opportunity to pull their weight
Q : but what we are ready
R : and do something useful
S : want most of all is
(6) : to offer is pity.
The proper sequence should be:
Ans: SPRQ

27. What will be the sequence of the sentences
starting from (1) and ending as (6)?
(1) : No part of this publication may be
P . without the written permission
Q: reproduced, stored in or transmitted
R : of the copyright owner and
S : in any form or by any means
(6): the publisher of this book.
The propersequence should be:
Ans: QSPR

28. What will be the sequence of the sentences
starting from (1) and ending as (6)?
(1) : The district collector
P:
Q : would be provided to
R : announced that financial assistance
S : of the deceased
(6) : from the Chief Minister’s Relief Fund.
The proper sequence should be:
Ans: RQPS

the next of kin
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29. What will be the sequence of the sentences
starting from (1) and ending as (6)?
(1) : The Reserve Bank of India has taken the
risk
P : as measured by the Wholesale Price Index
Q: by allowing a large flow of funds
R : when the annual rate of inflation
S : into the economy at a time
(6) : is slowly moving up.
The proper sequence should be:
Ans: QSRP

30.

What will be the sequence of the sentences

starting from (1) and ending as (6)?

(1):
P:

Ans:

Yesterday, I chanced to meet
where he lived

: and asked him

: now in his seventies

: an old acquaintance,

: and what he did for his living.

The proper sequence should be:
SRQP



31. Which section of Buddhism does not
believe in idol-worship?

Ans: Hinayana

(&G @ =N hefrom s e
Ans: 2T

i LR 1 T GRS foreers e ?
Ans: BIM

32. Which of the following Pala ruler founded
the Vikramshila University?

Ans: Dharmapala

(I {157 716 Rewien w1z (R
ARG e 2

Ans: 43(o{leT

med g9 uTel UEewel  fawaeien
Tovafo=meT™el TTIAT TR T9u?

Ans: SHYTA

EC/LEC(FWT)/2019

33. In which among the following battles,
artillery was used for the first time?

Ans: First Battle of Panipat

fsfeiRe @@ g TN FE T
TRE 2
Ans: AT 22 7

qelQUeT TTSEeEHE] a1 dfeell Ueh
ATIETTR TN TR To=?

Ans: THIYa% afeel J5

34. In which ‘state of India famous ‘hornbil’
festival is celebrated?

Ans: Nagaland

ST @I AI0e [KUre aier ST
fifeTe =32
Ans: S9NTTS

AR T TH HTEG, TToleT Scardl aret
T=?
Ans: AMA0S
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35. In which session, Moderates and the
Extremists in the Indian National Congress splitin
1907 at

Ans: Surat

1907 AN (i S FEAGTE T2
@ BIANAZIME ey v 966 2

Ans: 206

1907 HT AR T Shileehl 1 STTEAeHH
ISR T = u-efig® fasifsia wuent foren?

Ans: HId

36. Who among the following is also known as
‘Father of the Indian Unrest’?

Ans: Bal Gangadhar Tilak

wfefited st & ‘Father of the Indian
Unrest’ 36 Sfefze oe 2
Ans: 3 94F foaTs

TTHe3 g ‘Father of the Indian Unrest’
g2 gfq fafrs?

Ans: 9TeT TER fdeTeh

(8)

37. WhichIndian personality has been recently
appointed as CEO of Twitter?

Ans: Parag Agarwal

TS (S ISR 525IF (Twitter)-€3 CEO
feifbe 2 ?
Ans: “19 SN5KEIT

FICTHT $ MR JeTeh! sAfaeens Twitter
%l CEO T TRkl ©?

Ans: 9T AT

38. The famous grassland of Africa is known
as—

Ans: Savana

wiifela e waref F wie sAffoe?

Ans: Sl

SRRl wfeg S M 7R FHaTeaTs
fafr=s?

Ans: HAMI



39. Harshacharita was written by whom?
Ans: Banbhatta

GRS’ (& Aol A 2
Ans: JITSG

‘guafa’ e T TR B2
Ans: 9UHE

40. Under the MPLAD scheme, what is the
quantum of funds allocated to each M.P. for
developmental work per annum?

Ans: Rs. 5 Crores

AR T ©Z{E (MPLAD) (I ST
JEE G 2O ARMCE AfeqZd F© Tl (e
77

Ans: 5 @6

MPLAD 3ISH1 3T<07d, aftieh foIshrd shreiehl
AT Hdieh WiEEeTs hid ThH Geasuanl S7?
Ans: &5 g

EC/LEC(FWT)/2019

41. Which among the following is rich in
Ozone?

Ans: Stratosphere

faferiie @ B0 erela SHeT A% ?
Ans: ZIGIFERR

Freferfaa Ted 37 TR sieiF el 9gfs 972
Ans: TRIERR

42. Which among the following river is not
originated from Western Ghat?

Ans: Mahanadi River

e @9 T «ReTEt A<one (@
Teoy 3 ?

Ans: @Al

eTehl HEA T ot afvarl S ae 3= WTehl
ERK
Ans: HEFET
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43. Which of the following is India’s highest
sugarcane producing State?

Ans: Uttar Pradesh

TSR (I Aey 2 TeHAM A Bl
g T 2
Ans: SeIATH

TRl HES HRAehl Gl 59 3G ScASTHT J&H
T TS Tl B?
Ans: ST Y

44. Which Indian State is known as ‘God’s
Own Country’?

Ans: Kerala

SIS (@I AHE THRES e o
(God’s Own Country) Je1l 23 ?

Ans: (N

T TR TSI STEeh 3T <% (God’s
Own Country) 9 faf{=?
Ans: el

(10)

45. InIndia, which of the following longitudes
is known as the ‘Standard Meridian’?

Ans: 82°30'E

e FRERS (@i @i Standard
Meridian’ JeT 23 ?
Ans: 82°30" 7 &

TATCUaR HES YRAh! T GuT=ReTTs “Standard
Meridian’ 9 faf=5?
Ans: 82°30"E

46. Which of the following is the largest
man-made lake of India?

Ans: Dhebar

fersfeiices e b e 71 778 wlkred
RN 1 7
Ans: (499

qETeh HEH Foielie TRAsh! T Iail HHa
ffHa et 212

Ans: @I



(11)

47. Which among the following Chalukyan
king performed ‘Ashwamedha Yajna’?

Ans: Pulakesin I

il @ v wifeifs swity T
R ?
Ans: 22 AN

TmE A =Tel TSl | 3TWed Yy a9 T
forw?
Ans: GeTehfSH I

48. Who among the following introduced the
‘Doctrine of Lapse’ policy?

Ans: Lord Dalhousie

fnfefRema e & FERENA NS (Doctrine
of Lapse) &« A ?

Ans: TG TleT3lH

deTeRl HE h¥fel ool fagT=<1’ (Doctrine of
Lapse) FEITHI <A1Th foQ?
Ans: TTE SETRISH

EC/LEC(FWT)/2019

49. Golkunda fort is situated in which State?
Ans: Telangana

(oNETPe! 7T (e ey SAZe 2
Ans: COGTI

TieTepUeehl foheel 1 TSTHT AT ©7
Ans: AT

50. Who among the following were the first to
establish ‘Printing Press’ in India?

Ans: Portuguese

OIS QAR T BT I ?
Ans: ﬁrﬁw

YT ‘BOEHE 9UH Yol hdel LTIl
T fou?

Ans: 9GRS
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51. Whichis known as ‘power house’ of a cell?
Ans: Mitochondria

(FIFT M PP &1 27 2
Ans: EERGR

FHITHRTeh!  AFRTER ' R e o7
Ans: m@m

52. Ayodhya is located on the banks of which
river?
Ans: Sarayu

S (@I AAF O TS ?
Ans: AY

ST A AaIhl TR 3Tafeerd ©7?
Ans: Hg

(12)

53. Which among the following Articles of
Constitution of India abolishes the Untouchability?

Ans: Article 17

FREE @9 Q=R (Article) Sl
VI I A 2 ?
Ans: Article 17

R TR 1 HHT (Article) GaTgaehl
I <hi ToIorHT Weiehl ©7
Ans: Article 17

54. When were-the first general elections to
Lok Sabha held?

Ans: 1951

TS AN (FRPTSIR AL AL o5 Srfore
RIRe 2
Ans: 1951

AR HTR! Tfeel T8 TS hige] Weh! foren?
Ans: 1951



(13)

55. ‘Ryder Cup’ is related to which sports?
Ans: Golf

‘AT F# (Ryder Cup) I (AT ACK
TAfFe 2

Ans: 6T

‘TEELHU’ (Ryder Cup) T WeTHT T2
B?

Ans: Tich

56. Usain Bolt is considered as the greatest
sprinter of all times. Which country does he belong?

Ans: Jamaica

@5 (@ (IR ST 2

Ans: SN

I SleeeTE ol graren fafire erees 1fs,
I T el AT §1?
Ans: STHEH

EC/LEC(FWT)/2019

57. Which part of the Human Body stores
Glycogen?
Ans: Liver

T SR @I DL 2 BRI Tl A 2
Ans: TP

S AR F STIHT TEAERISH STHT G2
Ans: Fersit

58. Fear of spider is known as—
Ans: Arachnophobia

efofie @9 == 7 IFTAR (A
O RN 27 2

Ans: SPRAFEIERT

Freferiad 7 %1 egers HIgen TE 9T
EEISEY
Ans: 3TIEHAHRS(SIT
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59. Which of the following instruments 60. Who gave the Theory of Relativity?
determines the purity of milk? Ans: Albert Einstein

Ans: Lactometer

O e #IfIel 1 T (I A0 MR 2 ‘Theory of Relativity’ -5 &<&| (F?
Ans: TICHNGE Ans: ST SN35137

5 TH A F TG Y Freten “Theory of Relativity’ hl Jekil shl TT?

Ans: TIERIHI Ans: WW




61.

Ans:

Ans:

Ans:

What will come in the ‘?° place?

EIGHTY : GIEYTH : : OUTPUT : ?
TUOTUP

2QNF B 1 S 2

EIGHTY : GIEYTH : : OUTPUT : ?
TUOTUP

ggfe=al & AED?

EIGHTY : GIEYTH : : OUTPUT : ?
TUOTUP

(15) EC/LEC(FWT)/2019

62. Sheela and Bela started journey from their
office in opposite direction and walked for 10 km.
Thereafter Sheela turned left and walked for
10 km and Bela turned right and walked for
10 km. What is the present distance between
them (in km)?

Ans: 20

el @R @@ oI SR (A [ode
SR Al @ IR G3R Gereie, 10 060 % | 99917
Ael e goa wiRe 10 [ @3k (@@l o 9@
10 &R fow QeE, I ooE W TR
T (fFf) 2
Ans: 20

e T Se AT Stftrgene faadia fegman amn
& TR gar 10 forent i &S| wraufes shen awi
TH Tt 318 10 Torelt Hie 21f7 Srem <& aw went
10 febeil HieX feSsat 9, a1 of ggsi1 HEh gu
wa® (ferr)?

Ans: 20
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63. What shall be the sequence if the following
animals are written in ascending order of their full
grown size?

(a) Elephant (b) Cat (c) Mosquito (d) Tiger
(e) Whale
Ans: cbdae

A frgferie 2ifiors siva 2l greea S
SRR FFEEH (A IR G A 2, O GAb
@I 2 a2

(a) TS (b) R (c) i1 (d) <19 (e) Fofimtz
Ans: cbdae

Ffe Fafefeaa aiens fi-fes agenl quf ST
T T HHI 3 Fo=T gl T T3S AT Hlal
W, &l =1fE F1 gie?

(a) BT (b) feIed () MG (d) ST (e) Eofet
Ans: cbdae

(16)

64. Fill in the blank with appropriate set of
letters:

baab__ ¢ _ bcbdc _ dc _ dded

Ans: abce
i<l AN =IR *FZI 7l 0 ¢
baab___ ¢ __ bcbdc _ dc _ dded

Ans: abce
ST FAUHIC G @fel 318 T TR
baab__c¢__ bcbdc _ dc _ dded

Ans: abce

65. Which, word can be formed from
VENTURESOME using any letter only a single
time?

Ans: SERMON

VENTURESOME %65 s w9
GFANT AR FACS A [WHHRS @I =4 {5 519
341 TSI 2

Ans: SERMON

VENTURESOME ¥ aTe % 9f1 guiets
Teh I&eh A TN TR A U8 SIS Hichs?
Ans: SERMON



66.

Ans:

Ans:

Ans:

What will come in the ‘?° place?

15 9 3 226 7
19 ?

8 4 30
33
2FIEF B F =PI 2
15 9 3 2 6 7
19 ?
8 4 30
33
g & ASs?
15 9 3 2 6 7
19 ?
8 4 30
33

(17)

EC/LEC(FWT)/2019

67. What will come in the ‘?° place?

A
167 EX
&

mw%wm? A
1o X
e
wﬁmam? A
e e e
e
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68. P is the mother of X. X is Z’s wife. Y is
P’s brother and Q is P’s husband. Who is Q to Z?
Ans: Father-in-law

P, X-935 X, Z-499 3 | Y, P-99©i3 3 Q,
P-97 T 2, Q, Z-99 (F = ?
Ans: ¥9J

P, X S MBI X, ZR G &Y, Pl 18
AIQ,PHUfddl v, Q, Z I H7?

Ans: 9gU

69. If 7th day of a month is 2 day prior to
Sunday, then 27th day of that month shall be

Ans: Thursday

I @I e 7 eifde 7fk@iEg 2 e siest
7, O €3 Wd 27 Ofdd F I 2@ ?

Ans: gEifears

7fg H Afgamr 7 AR STEaeRe 2 fa
A W1 9, o & HiGAHT 27 ATk % I g1s?

Ans: fogER

(18)

70.

How many triangles are there in the given
figure?

Ans: 18

Toltas foafbre deouf fage ez ?
Ans: 18

feguaht fearmn wfaeer fyses &2
Ans: 18



71 1f x= 92

, then find the value of ‘a@’

from the equation 3x — 2 = 2x + 4.
Ans: 16

(a+2) _
T x= a3 T, O 3x-2=2x+4

AN ‘@’-F T F0?
Ans: 16

e x:@ 1 9, T 3x—2=2x+4
THHOEE ‘o’ 1 A ohid 817
Ans: 16

72. The cost of levelling a square ground at the
rate of Rs. 0-80 per 100 m? is Rs. 28-80. Find the
cost of fencing the same at Rs. 0-60 per m.

Ans: Rs. 144

GG qsfipia MG T S 0-80 Hidl Afs
100 3513 ezt GG 28-80 Bidl A< 2e, €3 MIH
= 0-60 T/ F6IF 73 F© 4B 2T ?
Ans: 144 5=l

T3 7 STHAETS GHC TRl ST & 0-80 3
TEITAE 100 m> TTE28-80 T 575 | el STHIeS
B! AT & 0-60/ HieX Sl o1 Hid TH TNS?

Ans: ® 144

(19) EC/LEC(FWT)/2019

73. A trader marked the price of a commodity
in order to obtain the profit of 25% on the cost
price, but allowed a discount of 16% on the marked
price. His actual profit percentage will be

Ans: 5%

GF AP GITOIE G Ry e
T, A0S O FRET AT 25% 1S A0 | 7w
o AT ol 16% 2 i e e A,
SR AFOACE F© *OlH A[S T ?

Ans: 5%

T3 AR T3 oFgehl S FE 3TSTehd T
STHHT ST e 2R 25% ohl 7T g | TR e 9
ST TSR TRehl ST 16% i ge fegwr fafsh =it
Y, IHh! ATk <Y FdeId i gie?
Ans: 5%
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74. A man can row a certain distance
downstream in 6 hours and returns the same
distance in 1-5 times the time taken in downstream.
If stream flows at rate of 2 km/hr, find how far he
can row in an hour in still water (in km).

Ans: 10

00T S (FI| IHY @Ce 9T [ied
6 9T FTICol IR @ICed AfSFet ©IF €3 @3 1Y
@Co 1-5 @ @ T sl M @icen @4l
2 /9% =31, Ora B9 weT €2 e 1 9%r e [
wg SIS T ?
Ans: 10

T3l HAfK TS a1 ol TRl TGRmHT <hfe o
ST T 6 =0T T S SR {ehet el g3 SiTehl
ST 1-5 707 SE §H3 s | AfS Fiaehl T1d 2 fehwi/
U AT 9, e FEeR YHET & HAfdde! Teh UMl
i fohHT <T@l ST T ?
Ans: 10

75. Find the maximum number of trees which
can be planted 20 metres apart on both the sides of
a straight road 1960 meter long.

Ans: 198

1960 fSGI7 a3 @6 AR golles! F7ifa
Foafe] 5l A 783, T 5wl 20 [oR e
@ T 2R AT 2
Ans: 198

1960 Hex ! T3eT Al g8 ufd iferssan
Ffderer fowen e arva g dfc ggae fawan
20 e 1 ek |1 AW TR 947
Ans: 198

76. If aiman’s present age is 150% of what it
was 10 years ago, then calculate his present age.
Ans: 30 years

GF e TO0 T @i 10 929 Sl
TG 150% 201, €3 fea Tos 9791 el et |
Ans: 30 3=d

T3 SAfeR hl S SH ST 10 99 Aferem
IIH 150% A1 o, T SAfedehl adae SHT
Frenfta e |

Ans: 30 99



(21)

77. The difference between a two-digit number
and the number obtained by interchanging the
digits is 27. What is the original number?

Ans: 85

T2 SET G0 WA GR GR MRAIH
TFafer B ARTS A0 (@ TR T SR S8
27 | 361 R T 2
Ans: 85

T8 ST U1 T STEEE WIEIE TR U e
sff=renl fo=ran 27 21, T o1 &A1 hid 21?
Ans: 85

78. A train passes a platform in 40 seconds and
a woman standing on the platform in 30 seconds.
If the speed of the train is 108 km/hr, what is the
length of the platform?
Ans: 300 m

O G @I 2TFNE 8 2B Hoi
G NZEI TAFE 40 GIEES 8 30 GRS ST
@ Gaba sfe@s 108 /9% =7, o=
AGCIE (7 o ?
Ans: 300 &G

T3 Yo7l U3 ©iewhH ¥ TS SR Afeeiiens
T 40 Tohe T 30 HheHl UR TS| Afg YT
TfG-rT 108 ToRl/EI0d B 9, T ICTHeH Tl Shid 217
Ans: 300 "X

EC/LEC(FWT)/2019

79. A man can do a piece of work in 5 days, but
with the help of his son, the work can be done in
3 days. In what time can the son do it alone?

Ans: 7.5 days

93 5fe 90 e 5 e F900 #Nid | e ol
(R AR e Fierfs 3 e sl 231 | 917 (2=
G T T IS F900 2AFE ?
Ans: 7.5 fata

T3 Al T3 wM 5 femm ™ 99 ®
BRI FganTel &t 9 3 fom T 9| o9
rfertenl SRTeT kel hid fETHT 8 T Fas?

Ans: 7.5 T
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80. Simplify:

7 5 1 1 3 5 4
R 2 o223 529
H[?’+2 6].23}><27:|.[7 37 2) !
Ans: —1
AT FCAI 8
7 5 1 1 3 5 4
R B 2l 2359129
HE3+2 6] 23}x27]£7 35 2) )
Ans: —1
TR TR,
7 5 1 1 3 5 4
R 2123 529
H[?’+2 6].23}><27:|.[7 37 2) !
Ans: —1

(22)

81. The least number which, when divided by
35 leaves the remainder 25 and on division by 45
leaves the remainder 35 and on division by 55
leaves the remainder 45, is

Ans: 3455

72 ey 7 el et A 35 M el
FAE 25 ST A, 45 W ©lel F46T 35 T[T
A 932 55 W Slol FAET 45 SR A |

Ans: 3455

el 9= HH ST 079 T ST 35 ¢
I 71ST oIkl I 25 S T 45 T HFT TIST Selehl
YB35 55 T HE &1 Isiehl 0T 45 TS |
Ans: 3455



82. Three years ago, the average age of a family
of 5 members was 17 years. A baby was born, but
the average age of the family is still the same today.
The present age of the baby is

Ans: 2 years

oo T2 ©ol 5 MR G0 AR 51T
T3 fest 17 923 | 93909 950 ! T azel e | f5g
TS (72 ARTARAD oG 77 G2 A, ABIH
TE TTH F© ?
Ans: 2927

I o @1fer 5 e ueh IRame e 3R
17 9 fordll | o Ui USer T S+, R e 3TEa
IR 371 U A ® 9, IR A SER <hfd 817
Ans: 2 99

(23) EC/LEC(FWT)/2019

83. At what simple interest rate shall a sum of
money double itself in 4 years?
Ans: 25%

R M (I B G S 4 e fawed
@
Ans: 25%

S HTETOT TS 3hl STAT 7T ThH 4 THAT el

Ans: 25%
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84. The HCF and LCM of two numbers are
12 and 180 respectively. If the difference of the
numbers is 24, their sum is

Ans: 96

9l AR 91 %. € AL, IATE 12 9%
180 | T 1227l wibE ST& 24 2, O O 51Fe
F9?
Ans: 96

g H&ARER HCF T LCM %H: 12 T 180
B | afe HeeEen! fumrdr 24 © v, faefeea drmee
Hfd 71?7
Ans: 96

85. If 15% of (A + B) = 25% of (A — B), then
what per cent of Bis A?
Ans: 400%

W (A + B)-99 15% = (A — B9 25% =1,
O A, B-O93 9 *[\o# ?
Ans: 400%

AfE (A + B) ®1 15% = (A — B) 1 25% &1 ¥H,
o A, B I Hfd ufaerd 212
Ans: 400%

4+4x18-6-8

86. Find the value of 123%6-146x5"

Ans: 7.75
,4+4x18-6-8
REASER G 123x6—146%5

Ans: 7.75

= i? 4+4x18-6-8
T * 123x6-146x5

Ans: 7.75

87. How many litres of water should be added
to a 35 litre mixture of milk and water containing
milk and water in the ratio of 4 : 3 such that the
resultantmixture should have 60% water in it?

Ans: 15

@35 35 61611 4 @ Treea faice!, 4 @ oiera
SRS 4 : 3 | @3 fire o b & e fReelfbee
60% &1 AP 2

Ans: 15

35 foTetenl g9 T urHieRl T, g4 T arTen
ST 4 : 35 | 9 Fagrorn shfa feret ot figm o,
I THH0H 60% T @A B2
Ans: 15



88. Six bells commence tolling together and
toll at intervals of 3, 6,9, 12, 15 and 18 seconds
respectively. In 30 minutes, how many times do
they will toll together?

Ans: 10 times

=6 9% @F0g ST 79 TANG 3, 6,9, 12,
15 @3 18 (IS O1¥d A0S | 30 WG s abiefer
GG PO NG ?
Ans: 1039

T I U Ueh HIHT 5 Td %A 3, 6,
9, 12, 15 T 18 Hohrsahl 3Tl o5 | 30 fa=em,
forile® T TI9MT i Tee oIos?

Ans: 10 92h

89. If the square of the sum of two numbers is
equal to 4 times of their product, then ratio of these
numbers is

Ans: 1:1

wio WAF @FETE 9 SR SR
4 TR T ZCE, AN YOF SATS F© 2
Ans: 1:1

I T8 I HEATRER! ANTHCTR ol faTeEehl
T[UHETeh! 4 0T SRTER S Y, T 8 J1e] e ATeh! ST T
Hid &7
Ans: 1:1

(25) EC/LEC(FWT)/2019

90. How many natural numbers divisible by 7
are there between 2 and 3007
Ans: 42

2 @32 300-F & Foufer O3 Qe H2Ag
Nitw, @wfe 7 7t [ereg 2
Ans: 42

2 7300 <hI ST=HT Shid 21 2] IR HEes
B, SIS 7 g1 YT T diehs?
Ans: 42



